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= A4 1,246,636 1,007,809 238,827
g5 A9 1,246,636 1,007,809 238,827
o9 gAY A 1,108,936 907,995 200,941
203 fH-Fx10] 14,000 14,000 0
03 Al A FXH-FX1H] 14,000 14,000 0
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- BANA = 2,000
205 ©]3]H] 1,094,936 893,995 200,941
01 oA <EH] 316,800 316,800 0
O o] &sH] 900,000 #24™ %12¢ = 259,200
O oA &1 HxH| 200,0009 #2474 %129 = 57,600
02 dAR8+" 553,076 362,880 190,196
O €4+3 1,920,4009) 24 «129 = 553,076
05 9AGLFFEAFFHN 124,200 124,200 0
O 94xd &8 AFF3H| 4,800,000 %24 = 115,200
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O ditdirE5d9ds] T8dFF31] 1,000,00091%9 = 9,000
06 7]1HEFFFFH| 74,400 66,435 7,965
O 9 *# 2,400,000 17 #129Y = 28,800
O 9% 1,200,000 1 %129 = 14,400
O a4 800,000 +37 x12Y = 28,800
O 49474 800,000 1 #3Y = 2,400
08 edxvAFTTEw 16,380 15,290 1,090
O daeidd 65,0009 %21 129 = 16,380
09 oYxvAGTE= 10,080 8,390 1,690
O A4RnYs 35,0000 #24™ «129 = 10,080
ol AWt A = oS ARA] v A 2R} 34,220 34,220 0
205 ©]3]H] 34,220 34,220 0
03 =ujofH] 34,220 34,220 0
O 9 Avv 2 w3 100,000 245 43] = 9,600
O Auj4a4 718 100,000 %249 %13] = 2,400
O = A3 njuA 2 80,0009 #2474 *33] 5,760
O Al - a9)3] ot 39 50,0009 275 +113] 1,100
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205 ©]3]H] 57,980 40,780 17,200
04 o] 57,980 40,780 17,200
O o9%, *9% 2,500,000 x2%13] = 5,000
O 99 1,800,000 #2278 #13] = 39,600
O ZF7HaA 2 ZA 3 Ao dds FAPAL FA 44,600,000 *30/100 = 13,380
=7F 9 S A3 T YPALE o+ 18,000 11,814 6,186
202 <41 18,000 11,814 6,186
03 =9ofH] 18,000 11,814 6,186
O =7hAL 2 A3 95 T2 PAL oA F3) 1,800,000 27 %23] = 7,200
O o4 A+ +3 1,800,000¢) *2v ¥23] = 7,200
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A AL FEAIZE AL FARY F3 7,000 5,000 2,000
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08 <RIz M| 7,000 5,000 2,000
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- 5 AU 500,000 74 13] = 3,500
— A& o}FIEA 500,000 *74*13] = 3,500
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401 A A B HF-thH| 3,500 0 3,500
06 AP 3,500 0 3,500
O & 39 =38 shrig} WA HX)H| 3,500,000 %14 = 3,500
405 AAEH S4] 9,000 0 9,000
01 AL =FF 51 9,000 0 9,000
O & 3% =3k& 7hdlet 4 4,500,000 %2t} = 9,000
8) 7 & 7 1] (AL ) 1,752,708 1,655,521 97,187
AR (AL 1,442,221 1,381,420 60,801
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101 1741 1,363,601 1,301,000 62,601
01 7]¥+ 717,122 630,911 36,211
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- 71583 1,718,100 5 124 103,086
- 7159w 1,439,300 *39 *124 51,815
- A 660,993,000 %1.8% = 11,898
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O &% 24,960
i I 40,0009 %227 # 124 10,560
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O A 17,280
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O 7l=d% 9 30,0009 29 #12¢ = 720
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06 ZFAIA D 110,333 104,756 5,577
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07 A7FR | 29,012 25,243 3,769
O dA7Fr A 661,995,000 %11/251 = 29,012
09 FIAFZTZARS 173,410 161,445 11,965
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- 59, 419 100,000 #1298 «27] A =9 Q3] = 2,400
204 A F-F8 7] 67,020 63,820 A1,800
01 AATGFTa7H 7,800 9,000 A1,200

O AAFdFFH| 7,800

-4 =t 350,000 17 12 = 4,200

-5 o 100,000 %37 #1294 = 3,600
02 Z5HzH| 46,620 47,220 2600

O AFHZH| 46,620

-4 o 400,000 1129 = 4,800

-5 o 250,000 37129 = 9,000

-6 o 155,000 x5 129 = 9,300

-7 o 140,000 #8718 #1294 = 13,440

- 8% °l3t 105,0009) #8713 #1294 = 10,080
03 SARYTFTALEH 12,600 12,600 0

O EAYFFALs1] 50,0009 %21 «129 = 12,600
1273 1] (2] AL 310,487 274,101 36,386
7127 1) () AF) 310,487 274,101 36,386
201 GuF-FH] 210,089 194,261 15,828
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01 AFFE-#n 168,889 194,261 N25,372
O Zt¥ 93] T1r Fis = 61,000
O o3| @ A=) (28] AAE) = 3,000
O 5t 93] A =}tay 7,000 %1,000% = 7,000
O FAakA] LA g = A2 2,500,00099%24] = 5,000
O fld3rFds AEes & 12,000 #15 7] Ap#35-x12Y = 6,480
O o219 sh& Az 250,000 9 = 2,250
O Al9l3] 7]l AR H| = 84,159
02 TTQFH 41,200 0 41,200
O Al&HelA HdAAH A 8= 1,350,000 12€ = 16,200
O 2% d8H & = 20,000
O olsdstavs 4% 587 = 5,000
202 o7 43,618 41,940 1,678
01 =ujodn] 43,618 41,940 1,678
O g 2 udAe As+3 = 13,000
O = dxl93] 7Fofd A5 =14 150,000 %248 x2 = 7,200
O 591&e AbEw 2 AMAd 71adE 738 5 200,000 #1278 4 = 9,600
O 9g3lFEdF 4 = 13,818
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405 AAFH S 4] 56,780 37,900

01 AL =FF5H| 56,780 37,900
O 9% A& AFT4H = 38,500
O dAns 4 220,000 247} = 5,280
O oA ZHY 4 850,000) 2t = 1,700
O 23751 (44) 300,000 %117} = 3,300
O detHeolE FA(E4A) 1,800,00094 %12 = 1,800
O Zg ZAUH7| +4 1,500,000 «1th = 1,500
O o7 VY 1,200,000) 1) = 1,200
O a3 AHF-A B3 FJ T8 3,500,000« 1} = 3,500






